x107° 0.2 x107°

= 0.2 —
g FTET TIR [ s
2015011 (U1 SRR P IRE o SR 1 E I R ST
S o 41 o C :
o H o L B .
'3 0.1:— “ v 0.1: :
0.05F 41 0.05E+H1 RRREE
= + 4 o T i .
OF -+~ %} Ot ; A
-0.05[ 1R TR N SRR -0.05F ] RS
0.3 P A -0.1- 111+ K TR
-0.15( T —0.15F -t {1ty A
o 2; Ly nn |! bl EEERTIT g_oa__ ;;u AR M L1 |||! 1 |__:_:___u_l__":":":_:_:_:::
IS F g IS :4»_
[0t I = 5 1 B f I T 24 [l 5
E + 05T S
0f ESSTRTRPRT, (PR SPRIRRMRN - 4 +* *
3 B - FLTE

=
OO
iN
=
OO
iN

10 0 . 10° 1 10 0 . 10°
TP, (PCA t% beamling TP, (PCA t% beamline
[—=— DQM original_StepZ_Tbar-phasel-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

z 100:

9_100 Ly ||||||! L ||||||! e AT L Q_loq_“ —ul ik |_|I____.__.__._._._._._I____.__.__._._._.:.
g 2 o PR S R g !
o T o [

£
A
.
aeecloececl
=l

o

a1

o

o
iR
=

0
2 3
1 TPl[g)T (PCA f})obeamlinéf)

<opJp,> (%)

I
i
1
—
k¢

3 RS N 1 A SHA
_35_ .......... ......... AR NE A R O
RO P 35 11| 1141
| | i |

Ratio
e
—= T
—~2

—_———]

o H
-1 2 3
10 1 TPlFQT (PCA tloobeamlin(:eL)O



	Contents
	Page 1


